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Table 1

Base: All respondents

Unweighted base
Weighted base

A: The Labour Party is
the ‘nasty party’

B: The Conservative
Party is the 'nasty
party’

Don't know

Total

2002
2002

618
31%

680
34%

704
35%

ONLINE Fieldwork: 19th-20th September 2018

Labour Party Poll

Q.1 For each pair of statements please indicate which ONE you most agree with:
A: The Labour Party is the ‘nasty party’ vs

B: The Conservative Party is the ‘nasty party’

Page 1

Absolutes/col percents

Gender Age Social Grade Employment Sector
Pri-
Male Female 18-24 25-34 35-44 45-54 55-64 65+ 18-34 35-54 55+ AB C1 Cc2 DE Public vate
(a) (b) (c) (d) (e) (f) [(s)] (h) (i) ()] (k) ()] (m) (n) (0) (p) (@
941 1061 254 303 303 321 319 502 557 624 821 436 599 417 550 246 764
977 1025 222 346 320 354 296 463 568 674 759 546 563 406 487 297 858
359 259 47 54 63 101 106 246 101 165 352 178 169 133 138 50 246
37%B 25% 21% 16% 20% 29%cDE 36%CDEf 53%CDEFG 18% 24%| 46%IJ 33% 30% 33% 28% 17% 29%P
333 347 109 159 132 108 91 82 268 240 173 194 185 138 163 134 301
34% 34% 49%FGH  46%FGH  41%FGH  31%H 31%H 18% 47%JK 36%K 23% 35% 33% 34% 33% 45%Q 35%
285 419 67 133 125 145 100 135 200 270 234 175 209 135 186 113 311
29% 41%A 30% 38%cH 39%cH 41%CgH  34% 29% 35% 40%K 31% 32% 37% 33% 38%I 38% 36%

Prepared by ComRes

Proportions/Means: Columns Tested (5%, 10% risk level) - a/b - c/d/e/f/g/h - ilj/k - I/Im/n/o - p/q
Overlap formulae used.
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Table 2

Base: All respondents

Labour Party Poll

ONLINE Fieldwork: 19th-20th September 2018

Q.1 For each pair of statements please indicate which ONE you most agree with:
A: The Labour Party is the ‘nasty party’ vs
B: The Conservative Party is the ‘nasty party’

Scot- NET:
land Wales England
(a) (b) (d)

Q.1 2017 General Election Vote

Total
Unweighted base 2002
Weighted base 2002
A: The Labour Party is 618
the ‘nasty party’ 31%
B: The Conservative 680
Party is the 'nasty 34%
party'
Don't know 704

35%

168 111 1723
174 100* 1728

35 30 553
20% 30%a  32%A

75 38 568
43%DglJ38%iJ  33%
L

65 32 607
37% 32% 35%

34%J  32%j

78 63
34% 37%

Region
York- West East
North  shire &  Mid- Mid-
West Humber lands lands Eastern London
(f) (9) (h) (i) (4) (k)
228 155 172 143 203 227
230 168 178 146 192 270
74 51 59 60 75 60
32%AK 30%a 33%AK 41%AEgK39%AeK 22%
m
78 54 63 36 43 113

South  South
East West
() (m)
311 199
280 178

98 55

35%AK 31%Ak

88 60

35%iJ 25% 22% 42%glL 31%j  34%J

56 50 74 97
32% 34% 39% 36%

95 64
34% 36%

5% 70%NPQU34%NQ

Conser-
vative Labour
(n) (0)
697 651
714 655
468 32
66%0OPQRU 5%
32 459
213 164

30%0 25%

25%0RU 43%0PRU 6%

61%NOPQR

Prepared by ComRes

Proportions/Means: Columns Tested (5%, 10% risk level) - a/d - b/d - c/d - a/b/clelfig/hliljlk/l/m - n/olpl/qlrisitiu
Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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Absolutes/col percents
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Labour Party Poll

ONLINE Fieldwork: 19th-20th September 2018

Table 3

Q.1 For each pair of statements please indicate which ONE you most agree with:
A: Labour is doing enough to tackle antisemitism within its own ranks vs

B: Labour is not doing enough to tackle antisemitism within its own ranks

Base: All respondents

Page 3

Absolutes/col percents

Gender Age Social Grade Employment Sector
Pri-
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+ 18-34 35-54 55+ AB Cc1 Cc2 DE Public vate
(a) (b) (c) (d) (e) (f) (@ (h) (i) @ (k) ()] (m) (n) (0) (p) (@
Unweighted base 2002 941 1061 254 303 303 321 319 502 557 624 821 436 599 417 550 246 764
Weighted base 2002 977 1025 222 346 320 354 296 463 568 674 759 546 563 406 487 297 858
A: Labour is doing 379 206 173 51 74 67 71 54 62 125 138 116 108 96 78 97 60 192
enough to tackle 19% 21%B 17% 23%H 21%H 21%H 20%H 18%h 13% 22%K 20%K 15% 20% 17% 19% 20% 20% 22%
antisemitism within its
own ranks
B: Labour is not doing 992 526 466 95 122 117 165 168 325 216 282 494 288 276 201 227 130 377
enough to tackle 50% 54%B 45% 43% 35% 37% 47%DE 57%CDEF 70%CDEFG 38% 42% 65%IJ 53%0 49% 50% 47% 44% 44%
antisemitism within its
own ranks
Don't know 631 245 386 77 150 137 118 74 76 227 255 149 151 190 127 163 107 288
32% 25% 38%A 34%GH 43%cFGH  43%cFGH  33%GH 25%H 16% 40%K 38%K 20% 28% 34%I 31% 33%I 36% 34%

Proportions/Means: Columns Tested (5%, 10% risk level) - a/b - c/d/e/f/g/h - ilj/k - I/Im/n/o - p/q
Overlap formulae used.

Prepared by ComRes
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Labour Party Poll

ONLINE Fieldwork: 19th-20th September 2018

Table 4

Q.1 For each pair of statements please indicate which ONE you most agree with:
A: Labour is doing enough to tackle antisemitism within its own ranks vs

B: Labour is not doing enough to tackle antisemitism within its own ranks

Base: All respondents

Absolutes/col percents

Region Q.1 2017 General Election Vote
York- West East
Scot- NET: North North shire & Mid- Mid- South  South  Conser- Did not
Total land Wales England East West Humber lands lands Eastern London East West vative Labour Other vote
(a) (b) (d) (e) (f) (9) (h) (i) (4) (k) () (m) (n) (0) (t) (u)
Unweighted base 2002 168 111 1723 85 228 155 172 143 203 227 311 199 697 651 33 260
Weighted base 2002 174 100* 1728 84* 230 168 178 146 192 270 280 178 714 655 30** 244
A: Labour is doing 379 32 27 320 20 46 25 38 19 25 59 57 31 41 256 5 28
enough to tackle 19% 18% 27%DGI 19% 24%iJ  20%j 15% 21%j 13% 13% 22%iJ  21%ij 17% 6% 39%NPQr 12%N 17% 12%N
antisemitism within its m U
own ranks
B: Labour is not doing 992 79 47 867 39 107 101 92 76 97 118 141 96 519 204 10 75
enough to tackle 50% 45% 47% 50% 46% 46% 60%AbeF51% 52% 50% 44% 50% 54%k 73%0QRU31% 64%0ORU 61%ORU 34% 31%
antisemitism within its Kl
own ranks
Don't know 631 63 26 541 25 78 41 49 51 71 93 82 52 153 195 15 141
32% 36%G  26% 31% 30% 34%g 25% 27% 35%g  37%bGh 35%g  29% 29% 21% 30%N 49% 58%NOPQR

Proportions/Means: Columns Tested (5%, 10% risk level) - a/d - b/d - c/d - a/b/clelfig/hliljlk/l/m - n/olpl/qlrisitiu
Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

Prepared by ComRes
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Labour Party Poll
ONLINE Fieldwork: 19th-20th September 2018

Table 5

Q.1 For each pair of statements please indicate which ONE you most agree with:

A: Labour was a more decent Party when it was led by Gordon Brown than it is under Jeremy Corbyn vs
B: Labour is a more decent Party under Jeremy Corbyn than it was under Gordon Brown

Base: All respondents

Page 5

Absolutes/col percents

Gender Age Social Grade Employment Sector
Pri-
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+ 18-34 35-54 55+ AB C1 Cc2 DE Public vate
(a) (b) (c) (d) (e) (f) (@ (h) (i) ()] (k) ()] (m) (n) (0) (p) (@
Unweighted base 2002 941 1061 254 303 303 321 319 502 557 624 821 436 599 417 550 246 764
Weighted base 2002 977 1025 222 346 320 354 296 463 568 674 759 546 563 406 487 297 858
A: Labour was a more 951 537 415 76 98 97 190 165 326 174 287 490 270 243 216 222 120 356
decent Party when it 48% 55%B 40% 34% 28% 30% 54%CDE  56%CDE  70%CDEFG31% 43%I 65%IJ 49%m 43% 53%MO 46% 41% 41%
was led by Gordon Brown
than it is under Jeremy
Corbyn
B: Labour is a more 480 214 266 74 122 103 68 67 46 196 171 113 138 147 78 117 87 237
decent Party under 24% 22% 26%a 33%FGH  35%FGH  32%FGH  19%H 22%H 10% 34%JK 25%K 15% 25%n 26%N 19% 24% 29% 28%
Jeremy Corbyn than it
was under Gordon Brown
Don't know 571 226 345 72 126 120 96 65 91 199 216 156 139 172 112 148 90 265
29% 23% 34%A 33%GH 36%FGH  38%FGH  27%H 22% 20% 35%K 32%K 21% 25% 31% 28% 30% 30% 31%

Proportions/Means: Columns Tested (5%, 10% risk level) - a/b - c/d/e/f/g/h - ilj/k - I/Im/n/o - p/q
Overlap formulae used.

Prepared by ComRes

COMRES




Page 6

Labour Party Poll
ONLINE Fieldwork: 19th-20th September 2018

Absolutes/col percents
Table 6
Q.1 For each pair of statements please indicate which ONE you most agree with:
A: Labour was a more decent Party when it was led by Gordon Brown than it is under Jeremy Corbyn vs

B: Labour is a more decent Party under Jeremy Corbyn than it was under Gordon Brown
Base: All respondents

Region Q.1 2017 General Election Vote
York- West East Liberal
Scot- NET: North  North  shire & Mid- Mid- South  South  Conser- Demo- Plaid Did not
Total land Wales England East West Humber lands lands Eastern London East West vative Labour crat UKIP SNP Cymru Other vote
(a) (b) (d) (e) (f) (9) (h) (i) (4) (k) () (m) (n) (0) (p) (q) (r) (s) (t) (u)
Unweighted base 2002 168 111 1723 85 228 155 172 143 203 227 311 199 697 651 104 94 59 12 33 260
Weighted base 2002 174 100* 1728 84* 230 168 178 146 192 270 280 178 714 655 105* 102* 62* 8**  30** 244
A: Labour was a more 951 71 45 835 33 105 95 102 80 96 94 147 83 522 175 69 60 17 5 12 72
decent Party when it 48% 41% 45% 48%a  40%  45%K  57%AbEf 57%AbEF54%AeK 50%K  35% 53%AeK47%K 73%0QRU 27% 66%O0RU 59%0RU 28% 54%  42% 29%
was led by Gordon Brown Km Km
than it is under Jeremy
Corbyn
B: Labour is a more 480 47 28 405 27 59 27 45 26 31 83 66 40 44 323 16 16 27 1 4 39
decent Party under 24% 27%GiJ 28%GiJ 23% 33%GlJ 25%g) 16% 25%gj 17% 16% 31%GIUm23%j  23% 6% 49%NPQU15%N 15%N 43%NPQU7%  15% 16%N
Jeremy Corbyn than it
was under Gordon Brown
Don't know 571 55 27 488 23 67 45 31 41 65 93 67 55 147 157 20 27 18 2 13 133
29% 32%H  27%h 28% 28%h  29%H  27%h 17% 28%H  34%HL 35%HL 24%  31%H 21% 24% 19% 26% 29% 29%  44% 55%NOPQR

Proportions/Means: Columns Tested (5%, 10% risk level) - a/d - b/d - c/d - a/b/clelfig/hliljlk/l/m - n/olpl/qlrisitiu
Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

Prepared by ComRes
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Labour Party Poll
ONLINE Fieldwork: 19th-20th September 2018

Table 7
Q.1 For each pair of statements please indicate which ONE you most agree with:
A: Jeremy Corbyn is either unwilling or unable to act decisively against antisemitism in his Party vs

B: Jeremy Corbyn is the target of a concerted smear campaign by his political opponents to try to discredit him over antisemitism
Base: All respondents

Page 7

Absolutes/col percents

Gender Age Social Grade Employment Sector
Pri-
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+ 18-34 35-54 55+ AB Cc1 Cc2 DE Public vate
(a) (b) (c) (d) (e) (f) [(s)] (h) (i) ()] (k) ()] (m) (n) (0) (p) (@
Unweighted base 2002 941 1061 254 303 303 321 319 502 557 624 821 436 599 417 550 246 764
Weighted base 2002 977 1025 222 346 320 354 296 463 568 674 759 546 563 406 487 297 858
A: Jeremy Corbyn is 905 500 405 81 101 103 159 147 314 182 262 461 260 238 192 214 93 356
either unwilling or 45% 51%B 40% 36% 29% 32% 45%cDE 50%CDE  68%CDEFG 32% 39%I 61%IJ 48% 42% 47% 44% 31% 42%P
unable to act
decisively against
antisemitism in his
Party
B: Jeremy Corbyn is the 544 280 264 68 116 96 100 84 81 184 195 165 147 161 101 135 118 242
target of a concerted 27% 29% 26% 31%H 33%H 30%H 28%H 28%H 17% 32%K 29%K 22% 27% 29% 25% 28% 40%Q 28%
smear campaign by his
political opponents to
try to discredit him
over antisemitism
Don't know 553 197 356 73 129 121 96 66 68 202 217 134 140 163 113 137 87 260
28% 20% 35%A 33%GH 37%FGH  38%FGH  27%H 22%H 15% 36%K 32%K 18% 26% 29% 28% 28% 29% 30%

Proportions/Means: Columns Tested (5%, 10% risk level) - a/b - c/d/e/f/g/h - ilj/k - I/Im/n/o - p/q

Overlap formulae used.

Prepared by ComRes

COMRES




Table 8

Q.1 For each pair of statements please indicate which ONE you most agree with:

Labour Party Poll

ONLINE Fieldwork: 19th-20th September 2018

A: Jeremy Corbyn is either unwilling or unable to act decisively against antisemitism in his Party vs
B: Jeremy Corbyn is the target of a concerted smear campaign by his political opponents to try to discredit him over antisemitism

Base: All respondents

Region Q.1 2017 General Election Vote
York-  West East Liberal
Scot- NET: North North shire & Mid- Mid- South South  Conser- Demo- Plaid
Total land Wales England East West Humber lands lands Eastern London East West vative Labour crat UKIP SNP Cymru Other
(a) (b) (d) (e) (f) (9) (h) (i) (4) (k) () (m) (n) (0) (p) (q) (r) (s) (t)
Unweighted base 2002 168 111 1723 85 228 155 172 143 203 227 311 199 697 651 104 94 59 12 33
Weighted base 2002 174 100* 1728 84* 230 168 178 146 192 270 280 178 714 655 105* 102* 62* 8**  30**
A: Jeremy Corbyn is 905 60 52 792 32 102 89 85 81 89 136 77 538 141 57 61 14 5 7
either unwilling or 45% 35% 52%AeK 46%A 38%  44%aK 53%AeK48%AK 55%AEFK 53%AEKmMI3%  48%AK 43%k 75%0PQR 21% 54%0RU 60%0ORU 23% 58%  22%
unable to act M U
decisively against
antisemitism in his
Party
B: Jeremy Corbyn is the 544 59 27 458 29 62 42 48 30 37 92 68 51 46 360 23 21 33 2 6
target of a concerted 27% 34%dlJl 27% 27%  34%J 27% 25%  27% 20% 19% 34%glJL24%  29%j 6% 55%NPQU22%N 20%N 53%NPQU5%  21%
smear campaign by his
political opponents to
try to discredit him
over antisemitism
Don't know 553 55 21 477 23 67 38 45 35 53 89 76 50 129 155 25 20 15 1 17
28% 32%b  21% 28%  27% 29% 23%  25% 24% 28% 33%Bg 27%  28% 18% 24%N 24% 19% 23% 18%  57%

Proportions/Means: Columns Tested (5%, 10% risk level) - a/d - b/d - c/d - a/b/clelfig/hliljlk/l/m - n/olpl/qlrisitiu
Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

Prepared by ComRes
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Absolutes/col percents
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Page 9

Labour Party Poll
ONLINE Fieldwork: 19th-20th September 2018

Absolutes/col percents
Table 9

Q.1 For each pair of statements please indicate which ONE you most agree with:
A: Labour MPs who are uncomfortable at Jeremy Corbyn's efforts to tackle antisemitism within the Party should resign from the Party to avoid damaging their own reputation vs

B: Labour MPs who are uncomfortable at Jeremy Corbyn's efforts to tackle antisemitism within the Party should remain in the Party and try to effect change from within, if change is needed
Base: All respondents

Gender Age Social Grade Employment Sector
Pri-
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+ 18-34 35-54 55+ AB Cc1 Cc2 DE Public vate
(a) (b) (c) (d) (e) (f) [(s)] (h) (i) @ (k) ()] (m) (n) (0) (p) (@
Unweighted base 2002 941 1061 254 303 303 321 319 502 557 624 821 436 599 417 550 246 764
Weighted base 2002 977 1025 222 346 320 354 296 463 568 674 759 546 563 406 487 297 858
A: Labour MPs who are 491 293 198 60 80 67 83 85 116 140 150 201 138 138 97 118 83 207
uncomfortable at Jeremy 25% 30%B 19% 27% 23% 21% 23% 29%e 25% 25% 22% 26% 25% 25% 24% 24% 28% 24%
Corbyn's efforts to
tackle antisemitism
within the Party should
resign from the Party
to avoid damaging their
own reputation
B: Labour MPs who are 882 458 424 85 115 113 165 140 265 199 278 404 251 234 189 207 108 355
uncomfortable at Jeremy 44% 47%B 41% 38% 33% 35% 47%cDE  47%cDE  57%CDEFG 35% 41%i 53%IJ 46% 42% 47% 43% 36% 41%
Corbyn's efforts to
tackle antisemitism
within the Party should
remain in the Party and
try to effect change
from within, if change
is needed
Don't know 629 226 403 77 152 140 106 72 82 229 246 154 157 190 120 162 106 296
31% 23% 39%A 35%GH 44%cFGH  44%cFGH  30%H 24%H 18% 40%K 37%K 20% 29% 34% 30% 33% 36% 35%

Proportions/Means: Columns Tested (5%, 10% risk level) - a/b - c/d/e/f/g/h - ilj/k - I/Im/n/o - p/q
Overlap formulae used.

Prepared by ComRes

COMRES
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Labour Party Poll
ONLINE Fieldwork: 19th-20th September 2018

Absolutes/col percents
Table 10
Q.1 For each pair of statements please indicate which ONE you most agree with:
A: Labour MPs who are uncomfortable at Jeremy Corbyn's efforts to tackle antisemitism within the Party should resign from the Party to avoid damaging their own reputation vs
B: Labour MPs who are uncomfortable at Jeremy Corbyn's efforts to tackle antisemitism within the Party should remain in the Party and try to effect change from within, if change is needed
Base: All respondents

Region Q.1 2017 General Election Vote
York- West East Liberal
Scot- NET: North  North shire &  Mid- Mid- South  South Conser- Demo- Plaid Did not
Total land Wales England East West Humber lands lands Eastern London East West vative Labour crat UKIP SNP Cymru Other vote
(a) (b) (d) (e) (f) (9) (h) (i) (4) (k) () (m) (n) (0) (p) (q) (r) (s) (t) (u)
Unweighted base 2002 168 111 1723 85 228 155 172 143 203 227 311 199 697 651 104 94 59 12 33 260
Weighted base 2002 174 100* 1728 84* 230 168 178 146 192 270 280 178 714 655 105* 102* 62* 8** 30" 244
A: Labour MPs who are 491 25 25 442 19 65 37 50 37 47 71 69 45 206 169 27 38 8 2 4 29
uncomfortable at Jeremy 25% 14% 24%a  26%A 23%  28%A 22%a 28%A 26%A 25%A  26%A 25%A 25%A 29%RU 26%RU 26%rU  37%O0ORU 13% 24%  15% 12%
Corbyn's efforts to
tackle antisemitism
within the Party should
resign from the Party
to avoid damaging their
own reputation
B: Labour MPs who are 882 84 45 752 37 96 83 81 62 86 104 129 74 355 286 49 39 38 4 11 75
uncomfortable at Jeremy 44%  48%k 45% 44% 44%  42% 49%k 46%  42% 45% 38%  46% 42% 50%o0qU 44%U 46%U  38% 62%0pQU1%  36% 31%
Corbyn's efforts to
tackle antisemitism
within the Party should
remain in the Party and
try to effect change
from within, if change
is needed
Don't know 629 66 30 533 28 68 48 47 47 59 96 82 58 153 200 29 25 16 2 15 140
31%  38%H 30% 31% 33%  30% 29%  26%  32% 30% 35%h 29% 33% 21% 31%N  28% 25% 25% 25%  49% 57%NOPQR

Proportions/Means: Columns Tested (5%, 10% risk level) - a/d - b/d - c/d - a/b/clelfig/hliljlk/l/m - n/olpl/qlrisitiu
Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

Prepared by ComRes COMR ES




Page 11
Labour Party Poll
ONLINE Fieldwork: 19th-20th September 2018

Table 11

Q.1 For each pair of statements please indicate which ONE you most agree with:
A: The Labour Party is institutionally racist vs

B: The Labour Party is not institutionally racist

Base: All respondents

Absolutes/col percents

Gender Age Social Grade Employment Sector
Pri-
Total Male Female 18-24 25-34 35-44 45-54 55-64 65+ 18-34 35-54 55+ AB C1 Cc2 DE Public vate
(a) (b) (c) (d) (e) (f) [(s)] (h) (i) ()] (k) ()] (m) (n) (0) (p) (@
Unweighted base 2002 941 1061 254 303 303 321 319 502 557 624 821 436 599 417 550 246 764
Weighted base 2002 977 1025 222 346 320 354 296 463 568 674 759 546 563 406 487 297 858
A: The Labour Party is 568 331 237 55 34 68 95 104 213 89 163 316 166 152 118 133 56 213
institutionally racist 28% 34%B 23% 25%D 10% 21%D 27%D 35%CDEf 46%CDEFG 16% 24%| 42%IJ 30% 27% 29% 27% 19% 25%p
B: The Labour Party is 805 405 401 96 193 129 135 113 139 290 264 252 216 230 171 189 140 359
not institutionally 40% 41% 39% 43%H 56%CEFGH 40%H 38%H 38%H 30% 51%JK 39%K 33% 39% 41% 42% 39% 47% 42%
racist
Don't know 628 242 387 71 119 123 124 80 111 190 247 191 165 180 118 165 102 286
31% 25% 38%A 32%H 34%gH 38%GH 35%gH 27% 24% 33%K 37%K 25% 30% 32% 29% 34% 34% 33%

Proportions/Means: Columns Tested (5%, 10% risk level) - a/b - c/d/e/f/g/h - ilj/k - I/Im/n/o - p/q
Overlap formulae used.

Prepared by ComRes
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Labour Party Poll

ONLINE Fieldwork: 19th-20th September 2018

Table 12

Q.1 For each pair of statements please indicate which ONE you most agree with:
A: The Labour Party is institutionally racist vs

B: The Labour Party is not institutionally racist

Base: All respondents

Page 12

Absolutes/col percents

Region Q.1 2017 General Election Vote
York- West East Liberal
Scot- NET: North North  shire &  Mid- Mid- South  South  Conser- Demo- Plaid Did not
Total land Wales England East West Humber lands lands Eastern London  East West vative Labour crat UKIP SNP Cymru  Other vote
(a) (b) (d) (e) (f) (9) (h) (i) (4) (k) () (m) (n) (0) (p) (q) (r) (s) (t) (u)
Unweighted base 2002 168 111 1723 85 228 155 172 143 203 227 311 199 697 651 104 94 59 12 33 260
Weighted base 2002 174 100* 1728 84* 230 168 178 146 192 270 280 178 714 655 105* 102* 62* 8** 30** 244
A: The Labour Party is 568 46 23 500 27 58 57 55 39 59 59 94 51 379 63 27 42 13 3 3 30
institutionally racist 28% 26% 23% 29% 32%k  25% 34%bK  31%k  27% 31%k  22% 34%bfK 29% 53%0PgR 10% 26%0U  41%0pRU21%0  33% 9% 12%
U
B: The Labour Party is 805 70 43 692 28 107 67 64 66 60 123 111 67 137 452 53 29 33 3 13 67
not institutionally 40% 40% 43%j 40% 34% 46%ehJ 40% 36% 45%J  31% 45%ehJ 40%j 38% 19% 69%NPQR50%NQU  29%n 53%NQU 30% 44% 27%N
racist U
Don't know 628 58 34 536 29 66 44 59 42 73 89 75 59 197 140 25 31 16 3 14 47
31% 34% 34% 31% 34% 29% 26% 33% 29% 38%fGL 33% 27% 33% 28%0 21% 24% 30%0 26% 37% 47% 60%NOPQR

Proportions/Means: Columns Tested (5%, 10% risk level) - a/d - b/d - c/d - a/b/clelfig/hliljlk/l/m - n/olpl/qlrisitiu

Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

Prepared by ComRes
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